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c) Run #4
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d) Run #5
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e) Run #6a

evolution of modal mass proportion: A (mass phasej/total solid mass)
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f) Run #6b
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g) Run #7a

evolution of modal mass proportion: A (mass phasej/total solid mass)
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h) Run #7b

evolution of modal mass proportion: A (mass phase;/total solid mass)
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i) Run #8

evolution of modal mass proportion: A (mass phasej/total solid mass)
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evolution of modal mass proportion: A (mass phasej/total solid mass)
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k) Run #10
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m) Run #12
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n) Run PM1

50 100
é ——— i eweoaw) c———>0px eeee (px <> e5p liqg == «=Ol Opx eeee Cpx = 5
5
% 30 £ 80 -
2 <
[} C
4 s
S )
©
2 kS
< 10 © 60 1
E >
: g)) -- -— -— -— -— -— -— -— -— -— - - ~
S S ~ o
£ £ ~
Q.
© -10 % 40
§ =
E S
E £
1S i re) i O
“6-30 820'...........00
c o]
S ©
g i
o
> =D o = e c e o o .0
-50 : : : 0 : ' S
1200 1300 1400 1500 1200 1300 1400 1500

temperature (°C) temperature (°C)



0) Run PM2
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